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Topic:- Physics

1) What are the dimension of latent heat: /& ST &7 farta g &:
1. MLT? T-2

2. ML™2T2

3. MOLT?

4, MOL2 T2

Correct Answer :-

. MOL2 T2

2) The unit of impulse is the same as that of:/&ﬁﬂﬂmmﬂ?m%:
1. Moment of force/dd Bﬂqpf

2. Linear momentum/ &g a1l

3. Rate of change of linear momentum/Jg TaT & Rad- &1 a3

4. Force/dd

Correct Answer :-

« Linear momentum,/ &g Tai

-

__,

and the value of and are 13 12 and 5 respectively, then the angle

between A and C will be:/ afeA=FB + Caqur & Béﬁ?ciﬂﬂ'ﬁl3 12 3R 5 HU: %?h-"'*sﬁ'\rcé?
&= &1 BT gH:

- —p
AB



5
1 _1 _
M (13)
Correct Answer :-

5
-1 =
. (13)

4) Ther rocket works on the principle of:RTPpe fpy Rgidw T BT %:
1. Conservation of energy/@@i & TG &
2. Conservation of mass/Go0HT & TR&UT &

3. Conservation of linear momentum/i@’q FlaT[ % TRE %
4. Conservation of angular momentum/& 10T FaTT o TRETT &

Correct Answer :-

e Conservation of linear momentum/i_@'q A & & &

5) The angular momentum of a body is conserved, if the acting:/mﬁ fyus &1
Sy T R Tgar ? afe 39 W erder:

1. Force is zero/&?ﬂﬁ?ﬁ

2. Torque is zero/dd &ﬁq;UTQEEﬁ
3. Force is constant/ & fFad &

4. Torque is constant/Sd 3Tgul fTrd gt
Correct Answer :-

« Torque is zero/dd &FFQPTQE’TE?T

6) The work done in stretching a spring of force constant k from length I, to I,

is: /it fBRT 31 darg 1, I 1, Fiaex F & R e a1 w1t g afe 9@ Fraais k g:
1. k(lzz - 112}

1 .
“k(12 12
Skl —1)

2,

3. k(ly —Iy)
k

4.2(l + 1)

Correct Answer :-



7) The escape velocity of an planet is V. If the radius of planet is same but its
mass increased 4 times then its escape velocity will be:/@%wwaﬂve
21 afe 98 Ft o gume 37 3R ITST SHT AR 1 g1 I Iara- av g) SIa:

1.4V,
2.2V,

3.

<
o

B |

Ve

Correct Answer :-

8) The partical value poission ratio is possible: /Urad- fsufx1 &1 saggR # JHg
T 3:

1.0.4
2.-5
3. Greater than 0.5/0.5 9 3{f¥&

4. Zero/[T

Correct Answer :-

- 04

9) The unit of surface energy is: /Y53 Sl &I AFS §:
1. Joule/ 1

2. Joule/meterz/ Gljf/IﬁETz

3. Newton/<Jc+

4. Newton-meter2/7CIc\E_rrJ:ﬁET2

Correct Answer :-

« Joule/meter?/ GLET/IﬂHZ



The 52°F temperature equivalence in 0cC is:/ 520F 919 &1 49 Oc H g
1.11.11°C

2.13.16°C

3.52°C

4.00C

Correct Answer :-

« 11.11°C

11) In a solid per atomic mean energy is: /39 § Ufd TRATY] ATSH SHell gidl B:

3.2
4. kT

Correct Answer :-

31'.:T
o 2

12) In steady state the temperature of cross section area of a rod, changes

with time: /T w1 # B8 & foredt off ufvsde &1 a1mu, w9 & 9ry:
1. Decreased/‘EIET-IT%
2. Increased/m%

3. Remain same/3URkafdd gdl g

4. Firstly decreased then increased/Ugd gedl g R SSd1 8

Correct Answer :-

« Remain same/3uRafdd J|ar g

13) In simple harmonic motion total energy of a particle is proportional to:/

A 3Tad T B §U BT Bt HYUT Sell SIhHATIUTT Sl &:
1. Frequency of oscillation/aIeH! &1 &Hqﬁ-I%
2. Maximum velocity speed/ TIfd & 3ifi@dd a7 &



3. Amplitude/Tfd & 3MAH &

4. Square of amplitudes/3TTH & T &

Correct Answer :-

. Square of amplitudes/3MH & a1 &

14) Medium in progressive wave: /WITHI 9370 # ATEH &:

1. Different particle have different phase/f5= Ul &1 &all fi= gl 8
2. All particle have same phase/ﬂﬂ-ﬁmﬁﬁmw@?ﬂ%

3. All particle vibrates in differently at any time/g4t & o1 fordft off &o1 FU=-f< TR @ oA
FA

4. Particle not transferred energy/oUI, Foll BT RIFTARU T8] HRd &

Correct Answer :-

« Different particle have different phase/ﬁ-ﬂWHﬁWﬁ-ﬂ%ﬁ?ﬁ%

15) The wave equation of wave isy = 5 €5 T

second. The wavelength of wave is: /T T HT JHHI y = 3cos (100t - x) g T8l y 3R x 9t
T quT t Ybs A 31 T ot e 3:

1.2 cm/2 I+t

(100t - x) whereyand xisincmand tis in

2.3 cm/3 9t
3.5cm/5 I+
4.100 cm/100 9Ht

Correct Answer :-

. 2cm/2 9H!

16) The angle of a prism is 5° and its refractive indices for red and violet
colours are 1.5 and 1.6 respectively. The angular dispersion produced by the

prism is: /T fIH BT ST 50 TUT IHPT YA ard 3R 9T T & e HA: 1.5 3R
1.6 g, s g1 I SIvity faagor ghm:

1. 7.75°
2.5°
3.0.59

4.0.17°



Correct Answer :-

. 050

17) The wavelength of visible light are between: /g4 UBTR I ?R"lﬁ'?ﬁ, & dH= gidt

q:

1. 3000 pm to 0.4 um/3000 um ¥ 0.4 um
2. 0.4 um to 0.7 pm/0.4 um ¥ 0.7 ym
3.0.7 ym to 1000 pm/0.7 pm I 1000 pm

4.0.1 cm to 30 cm/0.1 I T 30 IHY

Correct Answer :-

« 0.4pumto 0.7 pm/0.4 um ¥ 0.7 pm

18) In Young's experiment if the light is not perfectly monochromatic then:/

1 3 T & ) yerer qufa: Tesuita 7 @ A

1. Intensity of centre fringe reduced/&-<1d fthol &1 TH® HH Bl SR
2. Brightness of bright fringes reduced/dIw fThSll & TH® &H 8 SN
3. Dark fringe is not more dark/&mﬁﬁfmaﬂ?ﬁ‘eﬁ?ﬁ%

4. None of these/3H ¥ &g 8!

Correct Answer :-

« Brightness of bright fringes reduced/aIw fiholl &1 TH® HH gl ST

19) The image formed by concave mirror may not be find on screen while

object: /3(@ad gUUr § g+ UfAfad P U W U el B IPhd i aeg:

1. Placed between pole and focus/ﬂa‘q'tlﬁﬂ%aﬁ?rﬁ

2. Placed between focus and radius of curvature/®Hi®d 3R Ihdl & & o1d gl
3. Placed between centre and infinite/&% 3R 3= & &4 g1

4. Placed on radius of cuwature/mﬁwﬁf

Correct Answer :-

« Placed between pole and focus/ga'am%aﬂ?rﬁ

20) Images formed by a convex spherical mirror is: /f&l 3= ey U gIRT
94T 747 fafdq gm:



1. Virtual/®Tedi—®
2. Real/ardfd®
3. Enlarged/dgd Je<l

4. Inverted/3c<l

Correct Answer :-

. Virtual/®TcdH®

21) In a telescope the focal length of objective lens and eye piece lens is F and
f. The magnifying power of telescope will be:/T® ¥Rl & Sifiea® ok Af®T #t
WIod gRAT F 3R f 81 gl @t smaed= amar grft:

LF+f

2.F-f

=T T

T .

4.

Correct Answer :-
F
f

S000A of S000A 3

22) a photon have wavelength then its energy will be:/T® WHIalq &7 diTl &

ITBT St gl

1.4 x 10'? Joule/Sd
2.4 x 10716 Joule/S[d
3.6 x 1014 Joule/Sd
4.8 x 1071° Joule/S[a

Correct Answer :-

« 4% 107 Joule/Sd

23) Invisible light the photon energy associated with maximum wavelength

will be: /T YHT H AfRGdH aTeH & TId Wi Bt SHoll gid! g
1.1eV

2.1.6 eV



3.3.1eV
4,7 eV

Correct Answer :-

e« 16V

24) A galvanometer is converted into an ammeter when we connect a: /T%

TedHer &1 3rfier # gear oI IHdl @ od gH Sisd 8
1. High resistance in series/3<d ufaRiy &1 goff |

2. High resistance in parallel/ﬁuﬁﬁﬂﬁﬂﬂiﬂ?ﬁ

3. Low resistance in series/ &H UlcRIY &1 90ft o

4. Low resistance in parallel/ $Y UleRIY &I JHIR |

Correct Answer :-

« Low resistance in parallel/ FY UleRIY BT JHIR H

25) The resistively of a wire: /dRR & UfaRIUHdT:

1. Varies with its length/daTs & 1Y Sl §

2. Varies with its cross section/3U¥ dhIc & 1Y Fgeadt %

3. Varies with its mass/ScdH & ITY gedl §

4. Does not depend on its length, cross section and mass/?iﬁ]‘sc, STUR] hIc 3R oI IR
frR T sxar g

Correct Answer :-

« Does not depend on its length, cross section and mass/FiEITs‘, STUR| BT 3R ST TR
R T sxar g

26) The unit of magnetic field is:/Ga®T &F T AP g:

1. Newton/<Jcq
2. Newton-meter/?’E:[-ﬂIEQ

3. Newton-meter?/~-Hiex?
4. Newton/amp-meter/ g+ /ﬁffﬁl?ﬂ—ﬂlaq

Correct Answer :-

« Newton/amp-meter/ g+ /Qﬁlﬂ?—rﬂﬁ?



27) Number of electron in 1 coulomb charge: /U® $aATH AT H SAGCII DI TSAT BT
|1 g 3

1. 5.46 x 10%°
2.6.25 x 10'8
3.1.6 x 10719

4.1.76 x 107!

Correct Answer :-

. 625x 10'®

28) Electrical conductivity of semiconductor:/3&dra® ¥ fagad araedr ST
1. Decrease with increased in temperature/dTd §¢ & 1Y gedl g

2. Increased with increase in temperature/ﬁﬂﬂ@ﬁ%ﬂﬂaﬁ%

3. No change with increase in temperature/ma@q?ﬂﬁm?ﬁ%

4. Firstly increase then decrease with increase in temperature/drd 9+ & 914 Ugd 9¢al &
R gt 8

Correct Answer :-

« Increased with increase in temperature/?l'l'qaﬁgefaiwilaﬁfcﬁ%

29) Total electric flux coming out of a unit positive charge put in air is: /TP

AT B! aTg T WA R ITA e arat o fagad were ghm:

1, B0

=N
3, (4mgg) 71

4 47 €

Correct Answer :-

2

30) The electric intensity at a point 20cm away from a charge of “ x 10°5 C is:/ 2 x 10°3 C 3max

¥ 20 9+t g8t R fagaa &= 1 dear gift:

1.4.5 x 10° N/C



2.3.5% 10° N/C
3.3.5 x 10° N/C

4.4.5 x 10°N/C

Correct Answer :-
« 4.5 x 10°N/C

31) A sheet of aluminium foil of negligible thickness is introduced between the
plates of capacitor. The capacitance of the capacitor: /T T[T & HgH
e foeft Tenfa Y el & drad v & ardt € 9t Safya # durfear:

1. Remains unchanged, 3fafafdd &
2. Becomes infinite/ 3+~ Q%Jil
3. Increase/al‘c;ﬁ]?ﬂ%r

4. Decreases/dYc STl %

Correct Answer :-

« Remains unchanged;3maftafda gl

32) Kirchhoff's first law, i.e. L1=0 at junction, deals with conservation of:/ﬂ'ﬁr R fHarg &1
e P 21 = 0 Ry weror o) gt 2

1. Charge/&ﬂa‘-ﬂ
2. Energy/&o
3. Momentum/JaT

4. Angular momentum/aﬂ'ﬂﬂﬁ“v'ia"'[

Correct Answer :-

« Charge/3MaYl

33) The resistances of a material increases with temperature. It is: /T® et

Rt yfaRIY 19 % 919 9¢dT & 98 &:
1. Metal/41q

2. Insulator/$dIcidh
3. Semiconductor/&m

4. Semi metal/39YUTq



Correct Answer :-

« Metal/41q

34) The resistance of conductor is 5 ohm at 50°C and 6 ohm at 100°C. Its
resistance at 0°C is:/ o TT® & YfaRIUSdT 50°C W 5 3H 9T 100°C W 6 3T g ol
00C R 39! ufauedr gifi:

1.1 ohm/1 3
2. 2ohm/2 3H
3.3 ohm/3 3H
4.4 ohm/4 3|

Correct Answer :-

« 40hm/4 3|

35) If the current in an bulb drops by 1% the power decreased by:/df¢ f&dt gea
# 4T # fiRTae 1% ot wfew & &+ gft:

1. 1%
2. 2%
3.4%

4. 0.5%

Correct Answer :-

36) Approximately how many calories of heat will be genertaed ina 210 W

electric bulb in 5 minutes:/ 210 W & fagad e & 5 fire & @ feast dat St
I sl

1. 15000
2. 1050
3. 63000

4. 80000

Correct Answer :-

- 15000



37) Force acting between two long straight parallel current carrying wire is F. If
the current in one of them is doubled the force between them will be:/ff AR

YRT yaTed aRi & ued F fiparsiia g, afe et v ar o« &1 9= g o e srd &
I o BT g I

1.2F

J
\'EF

_
3.2V2F
4. 4F

Correct Answer :-

« 2F

38) In a moving coil galvanometer the current ‘i’ is related to the deflection 0 as:/ T&® DIGLEIE]

PUSHT Ta-eR & URT ' &1 9 faguor o J Heiftr 3:
1.1“5

2. ictan 8

3 iag?

4.icnu’ﬁ

Correct Answer :-

39) Magnetic lines of force:/ga®Id g v@IU:
1. Always intersect/gHN Ufdesg Ha &
2. Are always closed/HTI & gl &

3. Tends to crowd far away from the poles of magnet/W% ﬂﬁﬁ%ﬂ?ﬂ@ﬁﬁﬁm
Bl &

4. Do not pass through vacuum/ﬁﬁﬁﬁmﬂ'ﬁmﬂ?ﬁﬁ

Correct Answer :-

. Are always closed/gHer 8¢ & §

40) If a current is passed in a spring it:/9f¢ T fRAT # YRT yarfgd & S 8 ot
1. Get compressed/a_d\_xlrcﬁ%
2. Get expanded/Thd SITdt §



3. Oscillates/aleH Hct o
4. Remain unchanged, 31af¥afdd Igdt 8

Correct Answer :-

. Get compressed/gd SIdl 8

41) Powerful permanent magnet will be made by:/mwwmﬁﬁ
Cf

1. Cobalt/®IaTee ¥
2. Tin coal/fcAdIa g
3. Cobalt steel/®Ialee T I

4. Aluminium/ TegHiag &
Correct Answer :-

« Tin coal/fcA®Had

42) Magnetic susceptibility for water is: /Ul & fo¢ geo i ugfi &:
1. Zero/[H

2. Small positive number/SId! 8- &=

3. Small negative number/ BIC! BT I

4. Big negative number/ss! 3507 AT

Correct Answer :-

« Small negative number/ BT F0T T

43) Lenz’'s law is conservation of following: /a4 @1 forad fo=1 TReror @1 ufyony 3:
1. Impulse/GiTa?lT

2. Momentum/lﬁl’f{

3. Mass/ gcgHI

4. Energy/3ull

Correct Answer :-

« Energy/3vl



A coil has inductance 100 uH and current passes from it change by 1A in 0.1sec. The emf induced

in the coil is:/T® FUsH! o1 e 100 M 3 508 @ yarfRd unt 1A WRaffa S @ 2 0.1 Ybs F
PpUsdl d IO fa.ar.9d grm:

1.1 mV
2.1 Hy
3.10 mV

4.0.1 mV

Correct Answer :-

e 1 mV

45) The root mean square value of the alternative current is equal:/ﬂ?ﬂﬁ?ﬁ

YR & f wf T q@ w1 AT 8
1. One fourth the peak value/3=dH A HT AU

2. Half the peak value/ S=IdH HIH &I 31T

16

)

{1

1

3. (‘5) times the peak value / 3=Idd T &I (‘f'
V2. V2

4. times the mean value / H¥ HIH &I ¥ = I[AT

Correct Answer :-

1 1
. (‘5) times the peak value / S=add U &1 (ﬁ)

E =8sin wt+6sin 20t o4 i /fy.ar.9a 3t of wrer @

46) The rms value of the emf given by

Hﬁﬁ'ﬂT%E = 8s5in w4+ 65in Emtm%:

3.10v

4 1042 v

Correct Answer :-

47) The angle of the prism is 30°. The rays incident at 60° at one refracting
face and produce a deviation of 30°. The angle of emergence is: /U & U7 300



¢ gfe 3P TP Jag W 3ATufad AT &Y BT 60° 7 fTHP BIRT 300 &1 fIme SU— g1 &
al forfa @ror &1 |1 g

1. 00

2.300
3. 600
4. 900

Correct Answer :-

. 00

48) A raindrop of radius r falls from a certain height ‘h’ above the ground. The
work done by the gravitational force is proportional to: /IR &t Qﬁ?iﬁ'm
a1 r 8 3R S U135 h A T18s R AR 2 oty 9a g1 fovan war s srgureht gim:

1.r

49) In two dimensional motion the path of object moving with uniform

velocity is:/fgfaria nfy & ve gum nfa | nfe=ia axg &1 anf gar @:
1. Zig - zag/d 1

2. Circular/qﬁl?il

3. Parabolic/URddATH R

4. Straight line/IRd X&1g

Correct Answer :-

« Straight line/dRd Y@

l

-

50) Relation between angular velocity " and linear velocity * is:/®ofia 31 ¥ qur ¥dg an ¥ &
TdY &

-+ — =
V= W.r
1.



Topic:- Chemistry

1) Which is the correct order of Hydrolysis:/ Sd@ 3[Uge &I Agl HH 2
1. NF3 > NCl3 > NBr3 > NI3

2. BiF3 > BiCl3 > BiBr3 > Bil3

3. NCl3 < PCl3 < AsBr3 < SbCl3

4. SiX4 > GeX4 > SnXy > CX4

Correct Answer :-
o SiX4 > GeXy > SnXgq > CXy

2) Which of the following order of ionization energy is not correct:/ = feg m

T Soit & 5 A Bt FE T8 #:
1. Lt > He
2.H>Cl
3.F > Xe

4.0 > 0,

Correct Answer :-

3) Correct order of allotropism is:/3MUR=UdT &1 AE! HH &:
1.Si > C > Sn
2.N>P > As

3.C>Si > Ge

4. None of these/s_“rff | ?ﬁ'sc:ﬁof



Correct Answer :-
e« C>5Sj>Ge

4) The IUPAC name of the compound is:/ Tfil% &1 IUPAC ATH 8:

Cl
0 -

=

Nl

1. Ethane dicarbony! chloride/ T3H S5 1ald GARISS
2. 1,2-Dichloro ethane dione/ 1,2-SEaaRI VI S$3i=

3. 1,2-Dichloro ethane dial/ 1,2-SsadR! B3 SRUA
4. Ethane dioy! chloride/ B39 S53{10d R3S

Correct Answer :-

« Ethane dioyl chloride/ 334 SE310d dARIZS

5 one. M50 ;
) CH,~ CH;~CH- CH,——> (A)
OH

Major product (A) will be:/ 31 3dTq (A) N
1. CH3~CH,-CH=CH,

CH H
~c=c"

-~ ™(CH,
5 H :
CH, (f CH.
3, CH,

CH, .
"\-\_C =C,-"CH__
H -~ ~H

4.

Correct Answer :-

CH H
~c=c"
H~ ™~CH,

6) OH
@ CCLKOH_y Ay _CHLOKO o by

(B) will be:/(B) 8N



1. Salol/¥dd

2. Aspirin/TRERH

3. Oil of Wintergreen/ﬁ?Tiﬂ:TWaﬂ
4. DDT/ SISIdt

Correct Answer :-

« Aspirin/TRRH

7) Which is not correct statement about aniline?/ Qﬁ?ﬂ?%ﬁ’lﬁﬂ*ﬁ?—ﬁ HWF-TH'Eﬂ
T8 82

1. Aniline gives litmus test/ TfReA feeay gdteror <ar g
2. It can be steam distillated/ ST HTUY 3G fobaT STd1 &

3. It is primary amine/tl‘ﬁ’mtmﬂtﬂ?%‘
4. Tt is more basic than acetanilide/ Ig TRIc-dTss ¥ 3if® &g

Correct Answer :-

« Aniline gives litmus test/‘;fﬁ?ﬂ?ﬁ'lmtlﬁ&maﬁ%

8) What is AE for a system that does 500 cal of work on the surroundings
when 300 cal of heat are absorbed by the system?/ S 300 cal 3T 3 gRT
UGUT BI ST § a1 I8 IRI 3R 500 cal FTI AT 32 3 & fC AE 82

1. =200 cal

2. +200 cal

3. +700 cal

4, =700 cal

Correct Answer :-

« =200 cal

9) For a hypothetical reaction:/ W?ﬂwﬁiﬁ 3rfuforar:
2A(9) + 3B(g) — A2B>(9)

AH° = -x J. Which of the following expression can help in calculation of

AS°:/ TH HIedi-1h fHTpr:
2A(9g) + 3B(g) — AzB>(9)

P fIU AH° = —x J 31 /T & O P91 ol AS© BT AT JTd $IA A AEE Bl 8



Sa.z, =S8 —Sa

2.-x - TAG

—X—AG®
3. 298

+X —AG
4 293

Correct Answer :-

—X—AG"®
. 2938

10) The molal elevation constant of water = 0.52 K molality'l. The boiling
point of 1.0 molal aqueous KCI solution (assuming complete dissociation of

KCI), should be:/ Ut &1 Hidd 3999 fRRTE = 0.52 K molality™! g1 1.0 Hidd KCI &
weitg faea @ f% Kel &1 guf faais= gt 8), &1 Sy gim:

1. 100.520C
2. 101.04%C
3. 99.480C

4. 98.96°C

Correct Answer :-

« 101.049C

11) Which elements out of the following can exhibit a maximum covalency of

seven?/ 9 & @ S99 a9 SIfUPTH ATd gHAISTHdT USRIT B bl 82
1. Cl
2.S

3.F

4. None of these/378 q ®Is gl

Correct Answer :-

- Cl

12) Sodium reacts with excess of oxygen to form:/ JIfS$aH STRIeH & Tfeaa |
fufspar &= g-Tar 3:

1. NaZO



2. NaOy
3. Na202
4. NaO

Correct Answer :-

. Na202

13) Chile saltpetre is:/ frefl Orecdie? 8:
1. NaNO3

2. KNO3

3. NaZSO4

4. NayS;03

Correct Answer :-

« NaNOs

14) Which of the following pair of compounds is composed of only primary

carbon atoms: /57 & ¥ H=1 ARIB! BT T Had WIS HTd- GRATY A §7 8

CH;-C-CH, and CH -C=CH/ CH,-C~CH, 74 CH,-CaCH
" ) "

1. o D

CH-CH-CH, CH-CH-CH.
and | [ I ! TEAT 1| | [T
OH OH OH OH OH OH
2.

(‘EI\{'IIJ'IHHI and CHfC-CH, / CH,CH,COOH T¢I CH-C-CH,
g = o i : = I
3 O le)

CH_:—(E—?\TH; and CH,CH -0-CH CH, f CH;- C-NH, 941 CH,CH,-O-CH,CH,
D 22 : ey 2=
4. O (8]

Correct Answer :-

CH;- C-NH, and CH,CH ~0-CH CH, / CH;- C~NH, 34T CH,CH,-0-CH,CH,

15) Which compound does not give white ppt with AgNO3:/ Hﬁ?—ﬂTﬁﬁﬁTAgN%

P 1Y Jd 3M9&T T8} 3T B:
1. CHy=CH-CH,—Cl

2. (CH3)3C=Cl



3. CHy=CH-Cl

@— CH,-Cl

Correct Answer :-

a.
« CHp=CH-C

16) Observe the following reaction and predict the product (P) and (K):/

frafaRaa sifuferar & g<d & S@rg (P) T (K) 8

: =~
(K) <55 @A — 5 (P)
Br

T
Py and (K both are o
A @2\3’ i[*]ﬁﬂTiKiEHfﬁ@j\
1.
) () and (K) both are mr [P HﬂTll{lﬂiﬂmr

Br "
o . : == = ) Hj*«.
P s gy and (K} is [ [P | Brrﬁwm'@ 1
3.

i :Iﬂr Br Br
NN i i €S o 2L 4
-*‘"“(r nf*“‘*"“'\O/\;-u.g‘g‘r%:am....@/“z‘:

4,

Correct Answer :-

Br IBr %r }I_ir
K =R F » = =, .
.h“\(rlfmkll:“h@/\fl'h'.l@/ Er%ﬂmllH@/\Mg

17) Urea is a diamide of:/{ﬁ'ﬂTW%‘l‘@ﬂﬁg%:

1. Biuret/ STSgXC
2. Carbonic acid/ ®Taii® RIS

3. Phosgene/ W1l
4. Formic acid/m Y IS

Correct Answer :-

« Carbonic acid/ ®Tei-® TS



18) For the reversible isothermal expansion of one mole of an ideal gas at
300K, from a volume of 10 dm3 to 20 dm?3, AH is:/300 K TR T 3(Texl 1 & U& Hid
3MA 10 dm3 | 20 dm3 TP IPHUNY 9 A YHIRG gidl 21 df AH &

1.1.73 KJ
2.-1.73 K]

3.3.46 KJ

4. Zero/X[T
Correct Answer :-

o Zero/YH

19) AB, A, and B, are gaseous diatomic molecules. If AHp_5: AHp_g: AHpg g are 2:
2:1 and AH’¢ of AB from A, and B, is =100 kJ mol'%, then AH’s of A(g) is:/ AB, A, @
B, fERATU[® AT 3r0] 31 AfE AHp_a: AHA_p: AHp g, 2:2:1 BT A, TB, A AB HT AH%;, —100
kJ mol~1 § T A(g) PT AHO; T §:

1. 200 kJ mol™!
2. 100 kJ mol™?
3. 50 kI mol™1

4, 300 kJ mol!

Correct Answer :-
« 200 kJ mol™!

20) A first order reaction was started with 0.1 M solution of the reactant.
M

After 8 min 20 sec. it's concentration was found to be E, then calculate the

approximate rate constant (secl):/ WW?ﬁﬁiﬁ Sfuferar # frarerRe @t
M

WRTRI® TTdT 0.1 M 2 94T 8 firie 9 20 Y Us UyTd PP RS &t ar=ar 100 & dt &
fradie &1 AT (sec™) A FTd BT

1. 16.6 x 1073
2.2.303 x 1073
3.1.8x 1074

4,246 x 1073

Correct Answer :-

e 1.8x 1074



21) A molecule MX,4 has a square planar shape. The number of non-bonding
pairs of electrons around M is:/ T® 3(U] MX, AT AR Tt U 81 M & TRI
3R 3rafia sAaeT @ e ghft:

1.2

2.1

3.3

4.0

Correct Answer :-
.« 2
22) Alkali Metals have:/ &g U1g It &:

1. Low density/ &H Ydd

2. High ionization energies/ 3= 34 |
3. High M.P./3< TIaHi®

4. High tensile strength/3= T g

Correct Answer :-

« Low density/ ®H Ydd

23) Cesium oxide is expected to be:/ HIfS/gH RIS S BT AIRT:
1. Acidic/ 3fia

2. Weakly basic/ Eﬁﬂ&ﬂﬂﬂ

3. Amphoteric/ IHTYHf

4. Very strongly basic/ UaddH &Rg

Correct Answer :-

« Very strongly basic/ UdddH &R

24) IUPAC name of:/ T IUPAC 919 &-
COOH
cl OH

RY dolissh RIS

1. 3-Hydroxy-5-chloro benzoic acid/3—6|$<§\|d{1“|—5—qc1l



a2 N o

2. 3-Chloro-5-hydroxy benzoic acid/3-3RI-5-EISgIa! dollgHURTS
3. 1-Carboxy-3-methyl phenol/ 1-®Taiad!-3-AfId Bi-Td
4. None of the above/ SRIad ®1g 8!

Correct Answer :-

« 3-Chloro-5-hydroxy benzoic acid/3—ﬂﬁ—5—ﬁ§§ﬁ¥ﬂm@3

25) Arrange the following in increasing order of stability:/ frafafea # wifia
& gd P T AT B

CH

(p) CH3— “"' —CH3

(q) CeHs— <P

—CH=CH,
(1) CeHs—CH —coHs

() CoHs—Ct —CHg
1.s>r<q<p
2.p<s<qg<r
3.r<p<qg<s

4. p<s<r<gq
Correct Answer :-

e p<s<qg<r

26) Which of the following is not "Friedal-Craft reaction”:/ Fg# ¥ T 1
“Hisd sive rfufrar =gt 82

NH, NH,
@ + CH.CHCI “—“;@
CH,CH,

NO,

1 NO,
+CH,CH (1 &<,
, 32 CH,CH,
CH.
S —— .- CH< oy
@AH;LILLHZL@’ CH,

3.



CH.CH,

. AN,
4 @]+{ H.CH CI —;@

N

Correct Answer :-

1< CH;
@m -CH=CH 1, @CH<CH;

27) Noble’s oil is:/ T9d a4 &:
1. Fire extinguisher/ 3ORMH®

2. Insecticide/ HIcARIG

3. Explosive/[d@hicdh

4. Detergent/\’:{CI'q[Gfa?

Correct Answer :-

. Explosive/faxhic®

28) When the value of the azimuthal quantum number is 3, the magnetic
quantum number has values:/ 54 fgFi=lt HTUeH BT BT AH 3 §, 99 TP HTVEH
=T & HHE B

1.+1, -1

2.+1,0, -1

3.+2,+1,0, -1, -2

4. 4+3,+2,+1,0, -1, -2, -3

Correct Answer :-

e +3,+2,+1,0,-1,-2,-3

29) 1 g H, gas at STP is expanded against 1 atm external pressure so that
volume is doubled. Hence work done is:/STP W, 1 g Hzﬂvaﬁ, 1 atm dTeJ ¢Id IR
9 P WRITIRA B g, Td qb AR g1 gt e | fpar mar s« 3:

1.-22.4 L atm
2.-5.6 L atm
3.-11.2 L atm

4, -44.8 L atm



Correct Answer :-

e« -11.2 L atm

30) A system absorbs 10 KJ of heat at constant volume and its temperature
rises from 27°C to 37°C. The AE of reaction is:/ T& &1 f0a 3maaq W 10 KJ

SHEHT AN PIdT @ ) SHBT dTIATH 27°C A 37°C 8 Sra1 g1 fuferar &1 AE g1:
1. 100 KJ
2.10 KJ

3.-10KJ
4. Zero/R[U

Correct Answer :-

« 10KJ

31) Which of the following metals is commonly used in photoelectric cells:/

o & | PRI UTg AT yeT dgad a W IuahT § ot vt @:
1. Na
2. Li
3.Cs

4. Mg

Correct Answer :-

e Cs

32) The natural materials from which an element can be extracted

economically are called:/ WHfa® ugrd Forad a@ marit A fAewita far s g@ar @:
1. Ores/ 3{gih
2. Minerals/ &fsl

3. Gangue/ 314
4. None of the above/%ﬂﬁ@fﬁéﬂ%"f

Correct Answer :-

e Ores/ 3IInh



How much C.C. of oxygen will be liberated at N.T.P. by 2 amp current flowing
for 3 minutes and 13 seconds through acidulated water:/ 3[%&ii%d Ul & 2
TR YR &1 3 e 13 I9vs & T yarfzd -9 W N.T.P. R fova= c.c. TR gaa
g2

1.11.2 CC
2.33.6 CC
3.44.8 CC
4,.22.4 CC

Correct Answer :-

« 22.4 CC

34) In a reaction, AH and AS both are more than zero. In which of the
following cases, the reaction would not be spontaneous:/U®% Sfuferar & AH T
AS <1 3 A oiftes 81 FrmfefRaa foew ufefRufa & srfuforar w@a: =& gift:

1. AH > TAS
AH

2AS =T

3. AH = TAS

4. All of the above/IWRIad Tt

Correct Answer :-

« All of the above/IWRIad g+t

35) The ionic mobilities of the cation and the anion of a salt A,B are 140 and

80 ohm~1cm?2eq! respectively. The molar conductivity of the salt at infinite
dilution is:/@dUT A,B & HeTdd dUT TATIH B! AT ITAHATY HHRT: 140 TUT 80 ohm—1

cm2eq~1 &1 99U I mmwﬁa&rmﬁ%
1. 160 ohm™! cm? mol™!

2. 220 ohm™1 cm2 mol™!

3. 60 ohm™! cm? mol™1

4. 360 ohm™t cm? mol~!

Correct Answer :-

e 360 ohm™! cm? mol!

36) The number of photon of light having wavelength 100nm which can

provide 1.00 J energy is nearly:/ 100 nm 3¢ aTd UHTY A IUFRIT BIcH Bt



HEAT 1 §RA St 1.00 J Il U FHRaT g
1. 107 photons

2. 5 x 108 photons

3. 5 x 1017 photons

4.5 x 107 photons

Correct Answer :-

« 5 x 107 photons

37) Which among the following does not contain an ionic bond:/ fFg # 3 fead
IMf® 99 81 8-

1. NaOH
2. HCI
3. K>S

4. LiH

Correct Answer :-
« HCI

38) Formula of Gypsum is:/ fST®TH &1 g 8:

1. CaS04.2H,0

1
2. CaS0;. 2H20

3. CaS04.H,0

4. CaSiO;

Correct Answer :-

« CaS04.2H,0

39) The shape of XeF4, molecule is:/ XeF, 3{U] &I STHTR B
1. Planar triangular/ &0 Iqaery

2. Tetrahedral/ W

3. Square pyramidal/ giffa fRifarsta

4. Square planar/ 3¥ig gHINT



Correct Answer :-

. Square planar/ 3G AT

40) Which of the following is E-isomer:/ g o 9 919 91 E A9yl §:

H,C CHO
~c=¢”

, H - “~CH,OH

HN. __OH

, H,C” “CH,OH

HDHﬁHC— _C=CH
H.N ~CH(CH,),

NC~ _.COOH
4 HC=C” “\CHO

Correct Answer :-

HOH.C~. . _ C,,.C = CH

HNT “CH(CH,),
41) 60°C, conc. HNO. Sn/HCl
CiHsComcaso, * A B
$nCl, / NaOH
C

A, B and C respectively are:/ A, B 3R C PH: %
1. CgH5NO,, CgH5NH,, CgHsNHOH

2. CgHs5NO,, CgH5NH,, CgHsN=NCgHs

3. CgH5NO,, CgHsN=NCgHs, CgHsNH

4. CgH5S03H, CgHsNH,, CgHsNHNHCGH

Correct Answer :-

« CgHsNO,, CgHsNH,, CeHsN=NCgHs

42) Reaction/ 3f¥ferar

H* + OH™ — H,0 + 57-1kJ



1 mole of H,S04 is mixed with 2 moles of NaOH. The heat evolved will be:/ T®

W of H,S0,4, 2 A NaOH & |1y firamaT SiTaT 81 Sad IoT ghft:

1. 57-1KJ

2.2 x57-1KJ

3.3kJ

4, Cannot be determined/ﬂﬁﬁmwm

Correct Answer :-

« 2x57-1KJ

43) The rate of disappearance of the reactant A involved in the reaction 2A +
B - 2C + 4D is 1 x 102 mol/lit/sec. Which of the following statement is not
correct:/ 3fUfFAT 2A + B - 2C + 4D H A & fA@@ 819 &1 ¥ 1 x 1072 mol/lit/sec
g, @ g A A F9-971 FYF 94 §:

—d[B]
=5 x 1072 _
1. dt mol/lit/sec.
dle] _
2. dt ~ mol/lit/sec.

~dlB]_ ~1d[4] _1dIc]
3, d 2 dt 2 dt mol/lit/sec.

1dm0) _
4,2 dt " mol/lit/min.

Correct Answer :-

1dip] _
o 2 dt " mol/lit/min.

44) One liter of a buffer solution containing 0-01M NH,Cl and 0-1 M NH40H
having pK, of 5 has pH of:/ 0:01M NH,CI 94T 0-1 M NH,OH & 1 dieX I%R faeas &1 pH
ghft 5 f® pk, = 5 B

1.9
2.10
3.4

4.6

Correct Answer :-



Identify the correct order in which the covalent radius of the following

elements increases:/%H P UgdI~1A f9A A 9l &t gdaere B ged 8
(1) Ti

(II) Ca

(III) Sr

1100, 1, 11

2.1, 11, TI1

3.1I, 111, I

4. 11, I, III

Correct Answer :-

o I, II, III

46) Which of the following is most stable towards heat: 9 & § fege®r ardtg
R SaTeT 872

1. CaCO3
2. BaCO3
3. SrCO3
4. MgCOs3

Correct Answer :-

« BaCOs3

47) Carbolic acid is:/PTaI P TS B:
1. Isopropyl alcohol/mmﬁﬂm

2. Butyric acid/ SIeTsR® RIS
3. Phenol/ AEI]
4, Methanol/ﬁa:ﬁ'?[

Correct Answer :-

« Phenol/ LA

48) A reaction A, + B, — 2AB occurs by the following step/ 3ifufsara, + B, —

2aB forg ve & quf 81t &

A, S A + A (fast/ o)



A + B, — AB + B (slow/ 1)

A + B — AB (fast/ d19)

The order of the overall reaction is:/ a1 Glf\mﬁﬁﬁﬁﬁ:ﬁ%:
1.2

2.

Ml N

3.

o

4,

Correct Answer :-

49) Which of the following configuration is associated with the biggest jump
between first and second ionization energies:/ﬁ?ﬁﬁm sﬁaaﬁa?ﬁmm
TYT qUT el emae Sort # vt g @ wafia @:

1. 1s2, 2s22p°

2. 1s2, 2s22pb, 352
3. 1s2, 252, 2p?

4. 1s2, 2st

Correct Answer :-
o 152, 25!

50) The reactivity of the alkali metal sodium with water is made use of:/

T uTg WfSTH o 5 & 1Y Frar=iaar &1 IwhT &:

1. In drying of alcohols/mﬁﬁﬁﬁﬁﬁﬁ
2. In drying of benzene/ SSiF &1 Y& &

3. In drying of ammonia solution/ ST faaae &t {1{9”% e

4. As a general drying agent/STHRI LHHRS & &0 H

Correct Answer :-

« In drying of benzene/ o4 &1 g@H

Topic:- Maths



= 41 +cos = 31 + siny & . . =4{l+cos&)
1) x=d{l+cos8) gpg ¥=31+55) Hre the parametric equations of:/ = *17506)
¥=31+sn8) figor ¥ afera Tfe T 8:
(=37 -9 _,
1. @ 16
) 3T,
5 16 o
-8 _0-3)
3, 16 :
e B )
4 16 E
Correct Answer :-
S N k) S

. 16 9

2) If the distance between the foci and the distance between the directrices of the hyperbola

v i .

N S|

L are in the ratio 3:2, then a:b is: /ﬂﬁm
1 g8 &1 U 3:2 & @ azb BT

1. 4201
2. N@Z'\E

L
b

© PRl wd Praasi & fi

Dl.nc

p

g

3. 1:2
4, 2:1

Correct Answer :-

ﬁ:l

3) 1 [ 1]

card — =7 m | (1 + ) za =7
If 32CE =M gpg BNF =% then "L T gy gfe secf=m g ANE=1. G

1
o+ 1) + =
—| i+ )

| (m+n)| o

1.2
2.2m
3.2n

4. mn

Correct Answer :-



4)

The circles at +ayt +2gx 2 fly+e, =0 and bt b +2g,x+2f,y+¢,; =0 (a=0and 5=0)

each other orthogonally if: /g &~ 25X 2Ay=6 =0 gy B =By =25 x =2y =y =00 (a#

03 b # 0) TPH G F! A Ufasdg B afe:

2. A gg, + 7)) =be +ac,
3, 815 +afy fy = bey + ac,
4 glg:_fﬂl_.fn:=:1—5:
Correct Answer :-

. g8+ 1f7)=bg +ac,

Lh

5) The equation of the line which is tangent to both the circle ey and the parabola

VA0 ey Y g ¢ ) = qurwrae 2 =40 g ot v @), g

»1-and “:' are three matrices then which one of the following is not

defined/afg “23 =273 Fa2: R O3 arroge & o P & @ w1 wfvvifa =8 g
| CB=4

2. BAC

Correct Answer :-

C{A+ B



7) lx+v v+z z+x

1. 2x+y+z)°
2. 2x+y+2)°
5 (xey=2)
4.0

Correct Answer :-

« 0

. b

1 {aerad)
g ¥

A S P

o, a8 (e.d);

9) The function /** 7 ¥ defined by - *) = 5 one-one but not onto if Xand Yare

respectively equal to:/ & 7 < 71 & /%) =50 % J qiyifig &), Tt W roTe® AE BN,
gfe X qUT Y HH: B:

1.Rand R
2. [EI:"T] and [ﬂl]/[ﬂ:] GhT [ﬂl]

3.0 2 g il 2] g
4 L272] 4 [—11]/'7'?_' ae [F11]

L2l g L2 72 g e



10) T e 1 1 1
to n terms, then 2" =2/ afe

]

i ¢ 611 1116 1621

611 11.16 1621 nUEl
.
a®, a5 =2

In—4
1, Jn+6
M

2 {3n+6)
2n-1
3, dn+6

by
. (Gn+6)
11)  p=i+] G=4k-] Foiok . - N 3p+§-27 .
If 4 < and ¥ =! =% then the unit vector in the direction of 1 is:/ afe

P=i+]. §=4i-] gk =i~k g @ P+ 97 HRwAzeE aRTd:

1 - .
f_'\.'_'_\ >y
T s T oK)
1.3
1 o .
i
kL a
2.3
1 .- -
P B )
T T T e
3

Correct Answer :-

[

P I I

oM TS T




4. tan~ x+c.

Correct Answer :-

1

i
(x+1)

+c

13) I‘ cosscx

| 7 =
cos”| 1+log tan— |

- <1
tan 1 +log tan— | +¢
2. L <
5[ x|
sect|l<logtan_ |=c¢
| = 3|
3. L =~
[ X |
—tan 1+logtan= |+¢
4. L =

Correct Answer :-

- <1
tan 1 +log tan— | +¢

14 = i3 i ~ i 13 g . .
) The modulus & amplitude of ! wf3) are respectively/ (! wf3) P WIS TUT BV 8

1. 256 and "*/3/256 3R /3

2. 256 and 27/3/256 3R 27/3
3.2and 2"/3/2 3R 2"/3

4. 256 and 8"/3/256 3R 8"/3
Correct Answer :-

« 256 and 2™/3/256 3R 2™/3

15) The point (4, —3) with respect to the ellipse 4x"+3y° =1/ﬁ‘€f§'&r &5y =1 & ame famg (4,
-3) gRm

1. Lies on the curve/dséh TR

2. Is inside the curve/ % & 3icX



3. Is outside the curve/W%EﬂBT

4. Is focus of the curve/ g &I ATH TR

Correct Answer :-

. Is outside the curve/ds% & STgR

If =12/ 3% apd © =31~ /% 2% then the angle between the vectors 2+ % and -7 is:/qfe

a=i+2j-3k aur b=3i-j+2k %’?ﬁm S+h aur -5 ¥ ot &1 T B

2. 90°
3. 45°

4. None of the above/mﬁﬁﬁ@ﬁ'ﬁcﬁ

Correct Answer :-

e 90°
) - ==
Range of the function =1 js: /BT =1 AR 8
1. (-1, 0)
2. (-1, 1)
3.10, 1)
4.(1, 1)

Correct Answer :-

18) What is the sum of the coefficients in the expansion of (" _'1‘-_1]”?/ (o —x-1)? * R A

T[UTIHT BT IRT gIT:

1.1

2.0

3.-1

4. None of the above/3Widd ¥ ¥ ®Is ol

Correct Answer :-



19) #° =9 i5 a relation which is:/ * = umwdu iR ___ &

1. Symmetric/ qufid

2. Reflexive/Iadcd

3. Transitive/dhHdb

4. None of the above/IWRIad & ¥ HIs g1

Correct Answer :-

« Reflexive/IXddcd

20) Let the determinant of a 3 x 3 matrix 4 be 6 then Bis a matrix defined by 5=34" Then

determinant of Bis: /31 3 x 3% HTHE A > ARG FTAF 6 2 3= 34" grRT uRwIRT omg B ¥
AROTE &1 A I

1. 180
2.100
3.80

4. None of the above/dui\lom e or;l'-:f:lﬁ

Correct Answer :-

« 180
21) 7 x<0
f[:-"::]=,1_q. - Y 0<x<q ~: £EEy =0 7
Let prsmr T USIET/S then what is the value of 7 at *=1 7/ arer fe

[ 7 x<0
ﬂ'r]="1 siny FO0<xsq/2 P,

posmr VESEETC @ x = o R X o A @ g
1.1
2.-1
3. 00

4. Does not exist/ITd Tl fHaT ST Gbdl

Correct Answer :-

« Does not exist/3Td Tl fHAT ST b dl

22) Two points (a, 0) and (0, b) are joined by a straight line. Another point on
this line is: / 3 fagaii (a, 0) TUT (0, b) ' TH I IWT GIRT SIST 74T § oY FI 3@ W
3= fa=g ghm:



F2 R
3. VAL )

o B
4., LY

Correct Answer :-

23) The largest value of 2% —3x —12x+3 for —22X 24 occurs at xequal to:/ —2 2% =4 ¥ g
27 ~3x7 ~12x + 5 557 g I ENTI:

1. -4
2.0
3. -1
4.1

Correct Answer :-

24) If A and B are two fixed points, then the locus of a point which moves in
such a way that the angle APB is a right angle is: Jafe Aayr Bﬁ@ﬂﬁi%?ﬁ
39 farg &1 faguy it 39 YR 0 oear 3 & #or APB U1 &, 81 :

1. Circle/ 9d
2. Parabola/ Uxddd

3. Ellipse/ g

4. None of the above/dui\lom = or;l'-:f:lﬁ

Correct Answer :-

« Circle/ 9d

e e T
25) For the equation 0% *=C05 2¢=7 =0. the number of real solution is: /THHUT
1

cos x+cos i 2x+1 =D:%mmﬁ$aﬁaﬁmaﬁ:
1.1
2.2

3.0



4, co

Correct Answer :-

« 0

26) x=1 v+2 =z-3
2 and plane ¥~ ¥*37-1=0 g f¥mr

The point of intersection of the line ° 4

x—1 y+2 =z-3

504 -2 SiRgmae 2F Y= Uy pftrde ffq B
1. (10, -10, 3)

2. (10, 10, -3)
3.(-10, 10, 3)
4. None of the above/IWRIad H T BIg 8!

Correct Answer :-

. (10, 10, -3)

2+2.2) 16x* —25v% =400

27 )
) The tangents from a point (242.2) to the hyperbola

tor/fig 222)  aiftrrae 1657 207 =400 @ St i <Rt & w1 Yo g

include an angle equal

1.7%/2
2.7/4
3. n

4.7/3

Correct Answer :-

28) The equation of a straight line drawn through the focus of the parabola y =—4x at an angle

of 120° to the x axis is: / Rdad ¥ =—4x B A A 120° & HI0T W x & U Wil TS IR 3@ BT
JHIHT gRI:

L vl =0
5 y=afix-1=0
3 r+fx]) =0

4 ¥-fixeD =0



Correct Answer :-

y+afixen =0

29) x=c+f, y=cae+fa’ 1=

Let o +po .o is an imaginary cube root of unity,then product of

%yz is: /AT i X = By —ao= for. 2 =00 < 0.0 eart o areufie U 2, A xyz B UGS

Correct Answer :-

. @ =p

30) 1f a vector < lie in the plane of B and  then which is correct?/ afe t® afewr &, B aur
& gHad A fRya g at Fg 7 Q4 &9 91 9 82

L
=1

. [@B 71=0

w N
L | L |
=l =l
=1 =11
— —
o o
Il Il
Lad b

>
]
Tl
i
L) I-
Rl
I
—_

Correct Answer :-

. [@F 71=0

31 EEE T I S - S T I SO S S . A
) =d+3j-k F=-i+2j-4k F=1+]+k ypon whatis the value of (&% FHE*7) o/ gy

G=2+3f-k f=-i+1j-4dk F=i+j+k @ [ccxﬁj.(ccx}:']mmwam?

4. None of the above/mﬁ@aﬂgﬂﬁ

Correct Answer :-



32) ) < L
A .

1.0 and -16/0 3R -16
2.16 and 8/16 3R 8
3.-16 and 0/-16 3R 0
4.16 and 0/16 3R 0

Correct Answer :-

« 16 and 0/16 3R 0

33) FE PR .

+2 =1 - =

;
: : 1 =L
The ellipse 2° 5 andthe hyperbola 2° 16  have in common:/deiga 25 16

¥

x
T SR 25 16 l%aﬁamrqﬁwiﬁm:

1. Centre onIy/WW

2. Centre, foci and directrices / &, TfHal auT fAgarg
3. Centre, foci and vertices/ %%, ATHAT quT Lhf

4. Centre and vertices only/ Had b quT =i

Correct Answer :-

. Centre, foci and vertices/ &=, AT aUT <

3%) 1 the length of the tangent from any point on the circle )" =27 =" 44 the circle

(=37 =(=2)7 =7~ is 16 units, then the area between the two circles in sq. units is:/ gl

(=707 =5 g Rl g g 7 02 o i et ot i 16 g A
3 geit & ffa &1 gawa of gHTS A

1.32 7
2.4 7
3.87

4. None of the above/mﬁﬁﬁ@[aﬂ%:ﬁf

Correct Answer :-



« None of the above/duﬁdd = q>“|$°=|3°r'

35) "—.1:‘—6.1:—123'—3-?=Dan

The equation of the common tangent of the two touching circles,J d

X+ —6y+7=0 is:/ < TR gt v ex? —6x—12y+37=0 o X7 —y=7=0 1 Syafre e o1
TSR g

1, x—y-3=0

0

—v+5
2. X—1 b

3.x—y—§ 0

4.x—y—i=ﬂ

Correct Answer :-

36 S i AT, P
) sinH (2xqfl —x ) +sec”] - 1 =?

If cos x=cr,(0<x <1 and W2xs -1 ' then tan™ (2x) equals:/Tfg
cos ' x =g, (0<x <) 3R Sﬁl_lﬁf-‘im—ﬂf":_lf___lr:l_1_.=_.T:- r tan™ (22) IR &:
1.7%/6
2. %4
3.7/3
4.7/2

Correct Answer :-

. 3
37 a fa+h
) . tan™ 2 | ~fan 7 222 .
If 4>2>0. then the value of L “4=%) depends on:/afg > 7= 0. @
ta.n_lff,gx ~tan !f—“_ b

B A e Pk BT
1. Both a & b/ a 3R b A W
2. b and not a/ ad b W, a W sl
3.a and not b/ ®dd a W, b R 8!

4. Neither a nor b/ d9dla tl?ﬂé’fbtl?

Correct Answer :-



« Neither a nor b/ ddla Eﬁqﬁrbtﬂ

38) =4

If 7 and © are the two vectors such that |a@|=345. |u | and

between Z and 7 is:/afe 7 R © @ ARW A UPR & A% |2 |=345. |5|=4 AR
sﬁRFEa?aﬁaa)—raﬁw%:

1. 120°

a+5|=uf1

" then the angle

5—-.";|="..||':: ?‘h“'—rf

2. 60°
3. 30°

4. 150°

Correct Answer :-

e 120°

39) (=3 +38(1-§)

The complex number ©* BN +5 when represented in the Argand diagram is:/
(-3 +3001-1
afdy g G- B0005 5 3w ami R & yaRia Rear o o aftry T g

1. In the second quadrant/fgeita aqufer o

2. In the first quadrant /U4H agu‘fsufr'
3. On the Y-axis (imaginary axis)/ Y 3{& UR (ST 31&f)
4. On the X-axis (real axis)/ X 3{& UR (dRd{dd 31&f)

Correct Answer :-

« On the Y-axis (imaginary axis)/ Y 318 W (HTed-d 318&)

40) ) _fl:_,l::]_f[:,l::] r e
£y . 3 : g -1]—:—__ ‘ID.‘J‘:J,.;C
1f 7 is defined in [=2, 2] by )= 31 5pq (*=3)  then- 2R
2 e P bt L0 B PSS P
J) =47 =351 o 109 [, 2] ¥ uenfira 3 ok Ty @l 2
1. 64
2. -48
3.0
4.24

Correct Answer :-



41) y=x%—x

The area enclosed between the parabola =2 and the line ¥=**2 (in sq. units)

equals:/Raed =% ~=2 g Yar ¥= 2 & i wRas &7 1 dawa & (a1 3T A):
1.8/3
2.1/3
3.2/3
4.4/3

Correct Answer :-

« 4/3
42) alxl=x= l foe(x)=x" _i‘ )
Ii-"(-r:": c.-(-c": . . o b < o LA 3 I,. ('L"'=
If -/ and = are two functions with * and * ,then < ?/ﬂﬁ
3 1
£ 4 P . wg[r}=x=l fog(x)=x"-— £
T 3 &V zﬂ-w%w X 3R x %,;h.* W =a
1, 3x7 43
7 1
X - —
2. X
1+
3. X"
3T+ :'_
4. X

43) Let S be a set containing n elements and we select 2 subsets A and B of S at random
then the probability that ¥~3=5 and 47 %=¢ js;/ 9T 5 U 7 3yagal aren wg=rg ¢ A @ 2
STIERT 4 TuT B 3 arefde Sud g R, A wRwar v A-3=5 qur 47 5= g 2,

1. 2"

Correct Answer :-



44) 1iem I:I.'r::—l ..l
v |~ @ xX—F =0
The value of the constant ® and ° such that T . are respectively:/ fRRi®
| I —ax-p =0
cCquParum R o - " SR wERn
1.(1, 1)
2. (-1, 1)
3.(1, -1)
4.(0, 1)

Correct Answer :-

45) The number of solutions for the equations [ =1l =lz =2 =]z is: / GHIHIOT [ =1 =|z=2|=|z—1
P gl DI YBAT 3:

1.1
2.3
3.2

4.0

Correct Answer :-

46) Let Aand Bare two events and <'-*) =03 F(5) =04, PlinB) =030, hen P4~ 5F) = 2yqmr
5 ATuT B B TeTe & ol P(4) =03, P(B) =04 P(4nB) =053 P4UE) _ 5

1.0.5
2.0.8
3.1

4.0.1

Correct Answer :-

- 0.8



X 1 x 1
= =1 - . - —4 =1
1f © 7  touches the circle © 7 =%": then point (1'“ ') liesona/an/afe ¢ £ qm

T ey, ARg U g
1. Straight line/TRa ¥

2. Circle/dud

3. Parabola/URdcy

4. Ellipse/ard g«

Correct Answer :-

« Circle/dd

48) Let 7(11:31) and 9%2:77) are two points such that their abscissa 1 and *? are the roots of
the equation x*+2x-3 =10 while the ordinate *! and *? are the roots of the equation

¥ +d4y-12=0. The centre of the circle with PQ as diameter is:/ AT © 1:21) qap €0%2:22) qfag
THUBR 2 5 576 Yo 1 qur *2 wltewer «0+2x-3 =0 &, qafe et 1 oaur V2 e
V-4r-12=0 % am & @ po I S WHER WY T 99 T b5 g

1. (-1, -2)
2.(1, 2)
3.(1, -2)
4. (-1, 2)

Correct Answer :-

49) y¢ r =[20~cos 20=7 41 then what is the value of the derivative of & % at? = /47 Jafe

7o e
1, 7L
2. L

" - 1/2
3, .7 FL

~ ~1/2
4, L

Correct Answer :-



50) Ix? < 2= plp-1)=0

The set of values of p for which the roots of the equation are of opposite
sign is:/ p¥ A T T ARy RR witever X T2 22U =0 § o fyvdia fre & &, @

oo

1. (_ IO)

2.(0,1)

(el

3.(4,7)

oo

4.(0, )

Correct Answer :-

him

o 2x ="
1.~
2. -1
3.0

4. Does not exist/3Td Ag! fbal ST bl

Correct Answer :-

« Does not exist/3Td ol BT O b dl

52) In a class of 100 students there are 70 boys whose average marks in a
subject are 75. If the average marks of the complete class is 72, then what
is the average marks of the girls:/ 100 faenfdaY & e wan & 70 ws® 9 30 wsfHar
21 afe felt ue fawa A ase! &1 Ut sidl &1 3iad 75 8, 9T T H&iT & U i) &1
3NTd 72 g, 9 asfeal & U 3iel &1 3 ad ghm:

1.73
2. 65
3. 68

4.74

Correct Answer :-



ei=] =4
The order and degree of the differential equation -~  “*- % are respectively:/
I.- ‘:ﬁ'.'.: 3 {:":T
[1+3—] =4— B
3qPpd iR - 4 ) Pife 3R U HH: 8:
L=
1. ]
5. (3.1
3, (3:3)
g, (L2)
Correct Answer :-
(3.3)
54) .1'—-|-=_'-.' _=:—4

A plane which passes through the point (3, 2, 0) and the line - 3 4 isy/fdg (3, 2,
xr—4 _y-7 _ -4

o) R¥@ ! ¢ IR e wuad ST 4F%d g

1, x—y+z=1

2 x+y+z=3

5 T -

55) The domain of zm‘l[lng_:(x 3] is:/ Em'l[lng_:(_r 3] &1 SIA (Wid) g
1. [L9]

2. [-1.9]

3, [=%:1]

4, [-5.-1]

Correct Answer :-

o [LF]

56)



3.10

4. 18

Correct Answer :-

1.

I S N
58) The function /()= 0T T=X jpcraaces in the interval: /Bae /)= X=X gy

# gfaE @

i =
k1= J:)

F—1 =
(—1.=)

[ ol
(==, =

A

(0 oo
(0, =)

Correct Answer :-

59) 2x—x? =

The area bounded by the curve y= and the straight line y==x given by:/dsh

y=2 i ¥ = ¥ e e @ 3 o

1,92

2 4376



3 336
4. None of the above / Wﬁ@[ﬂﬁéqﬁf

Correct Answer :-

60) Given two vectors “ =I-J and 5= i 2J, the unit vector coplanar with the two vectors and

perpendlculartoflrstls/3&51':‘5'\‘@'58\‘rﬁ'\‘ﬁ'&fl'ﬂr i-j T-NTJ‘{_‘*' & QA 8 aUT ISR & W
T §, TR

L

1. 42
1 M5 i
— o J

2. -
—er’_;;-
L i

3. o2

4. None of the above / SRigd & A do\lar:lﬁ

Correct Answer :-

61) A parallelopiped is formed by planes drawn through the points (2, 3, 5)
and (5, 9, 7) parallel to the coordinate planes. The length of a diagonal of the
parallelopiped is:/ fa=g3ii (2, 3, 5) 41 (5, 9, 7) | W+ a14 T4 F&=ni® GHa &
TUTOR GHAd! o TP JHTR YCHad 19T 1T 8, a1 59 TR Yehad & famof 3t

?IWI’Q‘@TFI:

1.7
2. 38

4. None of the above / SWRiad & A BIs gl

Correct Answer :-

o« 7

62 — _t R S
) The range of the function fG) =x*+ +1|s/f(x} * +:r=+1ib‘r11ﬁﬂ?%:

1. [2,%2)



2. [3, m:]
3, [1,2)
4. None of these/3H A &S Tal

Correct Answer :-

[1,00)

63) Let Ty denote the number of triangle which can be formed using the vertices of a regular
polygon of nsides. If =1 7= =21 then n =2/ g ¥+, nyemail & Te wHagyw WMol B sigq &
I T By Fr g |, aur 17T G p=2

1.5
2.7
3.6
4.4

Correct Answer :-

- 7

Uy

64) If the vectors a, and © form the sides BC,CA and AB respectively, of a triangle 4ABC, then:/

afe afem 47 aur ¢ wn: Bryst ABCHY ST BC,CA T AB F ST & A

1f ““ = is a cubic root of unity, then! ' T | =2/af 2 =V g€ &1 uqma A&
1 1+i+a? @
- -1 wi-l

_E?f?ﬁ, - =l+a-i -1 —»
1.0



2.1

3. f

Correct Answer :-
« 0

66) The greatest distance of the point PA%7) from the circle © 7Y —4x—2y-20=0 is:/fag
P(0.7) g x? syt —dx-2y-20=0 %sﬂ‘imgﬁ%

1. 10

2.15

3.5

4. None of the above / SRIgd & A do\lé”:liﬁ

Correct Answer :-

67) The equation to the ellipse whose foci are (£.2.0) and eccentricity 1/2 is: /'qglﬁ qod b1
Tt et iy &2 Y qur Idmar 1/2 8, @

LY
1 12 18
i_T::l
5 15 12
i_3'2=1
3 16 8

4. None of the above / SRiad & A do\l'-:f:lff

Correct Answer :-

S
s 16 12
%8) The coefficient of *” in (1727 =317 =07 % gy (1= 20230 = 7% o o qroniep
1. 21
2.25

3. 26



4. None of the above / SRigd & A or;lé:l?’f

Correct Answer :-

« None of the above / SRiad & 9 or;lé:l?’f

69) The greatest integer which divides the number 101" -1 is:/ @@ 8T QUIfe St T@=AT
101 -1 ot fqunfora sean B, &:

1.100

2. 1000

3. 10000
4. 100000

Correct Answer :-
« 10000

70) The number of one-one onto mappings from A to B, where n(A) = 5, n(B) = 6, is:/ AABH
TSP TSP B H&IT T 81, S|l n(A4) = 5, n(B) = 6?

1.0
2.120
3. 540

4,720

Correct Answer :-

71) The approximate value of (1.0002)3990 js:/(1.0002)3900 7 T HIH B
1.1.6
2.1.4
3.1.8

4. 1.2

Correct Answer :-

« 1.6

72)



x+l 3 3 csl 33
2 r+2 i |=0 2 r+2 3 =0

Wl 2 ¢ 7 Jthenx=2/afg!l 2 T dix=2
1.1,9

2.-1,9

3.-1,-9

4.1,-9

Correct Answer :-

¥ Pl -1 = v o .
73) 1¢ Re4<3 and S=3%C pe two relations, then (°°%) =/gfe Ro4xB 3R S< BxC g Ty &
G (SoR)™! =5
1 §ler™

2. R7las7!

74) Let L be the set of all straight lines in the Euclidean plane. Two lines b and ¢! are said to be
related by the relation 2 if ‘I is parallel to ‘2 Then the relation Ris:/ AT f¥ L gfeafea wwaa

A vt W Yamell &1 witeRur 8, A ¥y 4 qur 2 ve g A ddy RAGIRA Y AR SR Faw AR 4
|| A < G R

1. Reflexive/Xdded
2. Symmetric/ﬂ'ﬁf&lﬂ

3. Transitive/ b THD

4. Equivalence / dodl
Correct Answer :-

« Equivalence / dcddm

75) Three squares of a chess board are chosen at random, the probability
that two are of one colour and one of another is:/ T 39 a1 & ¥ &9 aif
e U/ g 94 8, O WIRSdT JTd BRI Pt ST & T TN & TUT Th ST 3 H1 8 -



1.16/21

2.8/21

3.32/12

4. None of the above / IWIad H ¥ $Is T8l

Correct Answer :-

e 16/21

76) |a—b—r¢ 2a 2a
b b—c—a b =7
2c 2c c—a—b

1 [@+d+cy

3 (@+&+c)ab + be +ca)

4. None of these@ﬁﬁaﬂéﬁ

Correct Answer :-

o l@+i+e]
77) 12 2% 3t 1?2t 3t
The sum of the series *' + 7 is;/qoft 3 4 I HTYRTENm:
1. g
5 2e-3
3, le=3

4. None of the above / SRigd & 9 do\lar:l%)f

Correct Answer :-



Correct Answer :-

o X=-— _:|=

79) The system of equations: 3x — 4y = 12 and 6x — 8y = 24 has solution: /THIHIUN
& AP 3x — 4y = 12 3R 6x — 8y = 24 BT g GNII:

1. Unique/3ifgdia
2. Consistent/Jd

3. Inconsistent/3&TTd

4. None of the above / SRIad & A or;lé:l%)f

Correct Answer :-

« Inconsistent/3&Td

80 ERE T R
) The vector equatlon of the plane containing the lines ~ F=(i+])+2(E+2/-1 and

P+ v+ -20) g, /wmmaﬁmwwﬁm Qg =) A2

4. None of the above / SRiad & A or;lé:l%)f

Correct Answer :-

3. 42-1
4 —2-f3<3

Correct Answer :-



-2-4f3+3

82) I“ 2x{l+sinx) |

—ax
“—= l4+cos™ x =7

1. xi/4

2.7

3.0

4, 712

1°3 . 13 1/3 . 1/3
—x=1 -0 "y

83) The greatest value of S ==D on [0,1]is:/[0,1]WR Jx)=a+D)

g | @
1.1

2.2

3.3

4.1/3

Correct Answer :-

. 2

+xi+ 3k .

84 i
) The vector * is rotated through an angle © and doubled in magnitude, then it

becomes +i +(2x-2)j+2k ThevalueofX|s Jafe afe=r fx+ 3k gy ¢ wYor & g faar Wi, aur
oo @ AT AR R e dragt T -0 2 g g, @ xprAE R

| b
I

I

a |

IL!.II b
=

Correct Answer :-



85 v+ 1= Tr—1 =
) A straight line passing through the point (2, 2) intersects the lines Bx+y=0 and WS-y =0

at the points 4 and B. The equation to the line 4B so that the triangle OA4Bis equilateral is: /ﬁ_w;{

(2, 2) 9 TR areh aT 3 Yarait fry=0 g fx-y=0 B frgsi AU B ®redt & aur By
0ABTuaTg Y 8, °t ¥ A8 &1 it gim:

1. x=2=10

2 y=2=0

3 x=y—4=10

4. None of the above / SRIad & A or;lé:l%)f

Correct Answer :-

v=2=0

86) Find the total number of 9 digit numbers which have all the digits

different:/ fafir 3l & 991E 7€ 9 3i! arelt ¥t TEmaif $t I=mn @
1.9 x 9!
2. 9!

3. 10!

4. None of these/378 d ®Is gl

Correct Answer :-

« 9x 9!
57 ?cacs
If & is a root of 23 cos” £+ 3cosf-12=0 2 " then 5in 2 =?/9fg =,

25 cos® F+TcosF-12 =0 , IR PTYA @ df sin 2o =7

1.24/25

2. -24/25

3.13/18

4, -13/18

Correct Answer :-



88) Four dice (six faced) are rolled. The number of possible outcomes in

which at least one die shows 2 is:/ T: Bd®! & 9 Ui B &Td & | T FRTIId
gfyormHY ) w=T1, S $H ¥ $H TS UiAT 3id 2 P S=ifaT §, §:

1. 1296
2. 625

3.671

4. None of these/gﬂﬁﬁaﬁé%ﬂ'

Correct Answer :-

- 671

3.2

4.0

Correct Answer :-

« 0

90) pp y=4r—3 jg tangent to the curve Vi=preg g (2,3), then (p, g) = 2/ e V=¥ am
VP R g 23 R Y, @ () = 2

1.(2, -7)

2.(=2, 7)

3. (=2, -7)

4.(2,7)

Correct Answer :-

° (21 _7)

91) : de=6 [— = -6
If C X +{16 —x) then:/ﬂﬁ "2 x" +{16 - x) a
=2.b=8.nechR



1f “° 17379 thenits solution is:;/afg = (7379 & gHeT g B

4 (A+x) 1=y =x

Correct Answer :-

(A+x))(+yH =k

93) The locus of the centre of a circle which touches externally the circle
¥ =y =6r-6r=14=0,,4 also touches the y-axis is given by the equation/ I TS Fx P
Rgry e stga Y "0 14 =0 5y qur vt Y waef e 2, R

1 X —6x+10y+14=0

5 1 —10x—6y+14=0

3 v —6x—10y +14=0

4 ¥ —10x-6y+14 =0

Correct Answer :-
¥ -10x-6y+14 =0

94) If PN is the perpendicular from a point on a rectangular hyperbola to its asymptotes, then
the locus, of the midpoint of PN is:/df¢ FH®ITOI® SfdRaay W fRud farg @ suat sA—aw=if W=
Wrar T fHET PN g1, 9 PN & 7 fa=g &1 fawguy gRm:

1. Hyperbola/Gfﬁ-lW
2. Circle/dud



3. EIIipse/?ﬁYf?iﬁ
4. None of the above / SIRIad & I ®Is gl

Correct Answer :-

« Hyperbola/3ffduRacy

Let &7 b.Z be three vectors (=0). not two of which are collinear. If + 25 is collinear with

£.b+32 is collinear with & then &+2% +67 jg; /afe & 5.z mqﬁmww%ﬁ;gﬁ@aﬁgm
DA TNEG TR ARE+ 2> || faur v+ || Eqrs ar2h 60,

1. Parallel to £ /% & AR
2. 0
3. Parallel to %/ & & GHFR

4. Parallel to 2/ % JUFR

Correct Answer :-

3 P
ZX°V
4, =%

Correct Answer :-

97) A problem in mathematics is given to three students A,B,C and their
11 1
respective probability of solving the problem is 2 3 and ! . Probability that the problem is
solved is:/ TOrd &1 t& Uy 3 faenfiaY A,B,C ) g $31 F forw faam Tar U1 39% 86 HA B Y-
11 1

ST TREAd HAT: 2 2 AR ¢ € AUy d e a1 ) wirear e
1.3 4

2

2. 12



Correct Answer :-

o /4

98) ot (veosom) = tan ™! (WJeosom)=x then sinx=7> / cot™! (frosa) = tan~" (vJeosa) = x, 4 sinx=>

II-..I| R

II-.1| ;\

X dy
v=a i X(1-ylogxlog y)— V=
If - * then the value of 4 js: ) Tfg -

x(l—ylog xlog 3']£
¢ T | T I

 Yiogy
2 ¥ log v

3, Ylezy

4. None of the above / SRigd & 9 or;lif:l%)f

Correct Answer :-

100) A letter is known to have come either from ‘LONDON’ or ‘CLIFTON’ on
the postmark only the two consecutive letters ON are legible. The probability
that it came from LONDON is:/'LONDON’ 47T ‘CLIFTON’ ﬁ@‘ﬁ G{THT%, LERLS
Pad &l PP &R ON USHIY & 59 U7 &I LONDON ¥ 311 B UriyehdT J1d 93



1.5/17
2.12/17
3.17/30
4. 3/5

Correct Answer :-

« 12/17



